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Before attempting the question paper, kindly check vour
Question Booklei(QB) and O.M.R. Answer Sheel and
ensure that;
- Serial number of Question Booklet(QB) and OMR
Answer Sheet s same,
- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for
replacement of Question Booklet(QB) and OMR Answer
Sheet. No claim/objection in this regard will be
cntertained alicr Iive minutes ol starl of examination,
candidate will be liable for the same.
2. SUHET 3T U & U A wyi e ae |
Read all instructions on the reverse of OMR Answer
Sheet.
ST JA—T=AF T BT el S D52 O B T &L | FIE],
TR FA-TA% H A0 U 97 o 9= B wa S o
Lyl
On OMR Answer Sheet, use blue ball point pen onlv,
Please, fill your Roll No, and other information correctly
in OMR Answer Sheet.
Ty e 99 o R e 4 erfises Tere it e R E o 90 o
TR HAT S
Il more than one responsc is marked lor a question, it
would be treated as wrong answer.
e 3 A Tt R €\ gee e R (A), (B), (C)
ﬁT(D)WWﬁmfaﬁ%aﬂwaam—wﬁ—n “(EY
‘WA yeT et ¥
Each question has five options/eircles. First four options/
circles (A), (B), (C) and (D) are related to appropriate
answer and fifth option‘eircle (EY 7s related to *Question
not attempred”.
TET 3L I % 0T aregedl @7 ATy anT. I—uss UY 69T
T A & TR AT fEEET (A), (B), (C) 71(D) # 4 %ad U
TR 7Tt =Tt ST =g O & T R A anadt e we
HT I L S IR ¢ A WA fagerme (EY @ W &
BRI
To indicate the correct answer, the candidate has to fill
in only onc oplion/citcle (A), (B), (C) or (D) with bluc
ball point pen for respective question number on the OMR
Answer Sheet. [f the candidate does not want to answer
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Question Booklet Number
S RS T wE

2 78T gitawr & | Do not open this test
g7 9F 7 @ 75 | booklet until you are

7F FET T AT | asked to do so.

any question then the fifth option/circle *(E)’ should be
darkencd.
wfy i faeel W 8 B2 A fermmwa/ e mew TE e v
1/349m 3im %12 ferar =
173 part of the marks will be deducted for the questions,
il none ol the option/circle options are darkened.
10 gfasta & atfies weat § fpehl o e mer @1 arvgedl g /o
TET T T 1 =8 T o T aw gt T T s
[f a candidate leaves more than 10 percent questions or
does not darken any of the five options. he/she will be
disqualified for the exam,
SARTE BT Yedeh 0o o 60 W & ¥ Ueh Fereped;Tiiet) w1 % 40 12t
g5 gHtad B @ T 10 e afafe fe s

Candidate will be given 10 minutes extra to make sure, if
hefshe has lllh,d up any onc option‘circle lor cach
questions.
afs 997 F Tewr O Sl HERTe § TR OT T Wi @ T
Al WERTT T SRR €, A7 SIS SR ST " S
Il'there is any sorl ol ambiguily / mistake cither of printing
or factual in nature in Hindi or English version of
questions, then the English Version will be treated as final.
TET B W A By e O Redr T gaagit e
EﬁlWﬂﬂﬁlaﬁﬁ%lqﬁﬁﬁﬁl aregdt 3 e T g wlaefag
WA 9 T A 6 e FEATET e s B S
Use of Mobile Phone ¢ Bluetooth Device or any other
clecironic gadget in the examination hall is strictly
prohibited. 1f any such prohibited material is found with
any candidalc, sirict action will be taken against him/her
as per rules.
S« Aty wrd gl Tema wm i gy o S A1 g ot e
T S S A s W S AT A U AN & A v fawrs
Wé&mw@engm ad &1 Al oY @7 U= et g
At 2022 afiT dsie afafme 2023, (vt & argfaa amE #
THIT 3 AT amww%mmmw 109
T atE HrrETE A € 1 s T% B Ma9H €1 S0 915 B iy B
oot wreralt § Tl w0 & frafsa oy B S wmar ¥
Warning ; If a candidate is found copying or using unfair
means or it any unauthorized material is found in his/her
possession, IR will be lodged against him‘her in the Police
Station and he/she would be liable to be prosecuted under State
Public Examinatlion (Mcasurcs lor Preventions of Unlair
Means in Recruitment) Act. 2022 and Amendment Act 2023,
The act has provisions ol imprisonment ol 10 years Lo lile and
fine up to ¥ | crore, Board may also debar him/her permanently
from all future examinations conducted by the Board.
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Six numbers are arranged in decreasing order. Tf the average of the first five numbers is 40 and the average
ol the last {ive numbers is 30 then the dillerence ol the [irst and the last number is:

TR TEATSAT ol T2 ohW H ST TR I Tt ol St S 40 & 3R snfrt ois wemet w sied 30
1 R SR HATRE ST & S -

(A) 25 (B) 50

€ 75 (D) 90

(E)  Question not attempted / Bilfljﬂfﬁ RE]

A loss of 25% occurs on sclling an article for T 1,800. What would be the profit pereent if the same article is
sold at ¥ 3,2007
T TE I 1,800 F 3Ia T 25% 3T &1 Bt 21 A7 30 5% 1 T 3,200 5 ST SITAT &1l @1 367 T #1 grm?

(A)  25% (B) 35°
%

W= =

C)  30% (Dy 33
(E)  Question not altempled ¢ ailflﬁﬁ_d aAq

The diameter of a garden roller is 2.8m and its length is 4m. If it takes 5 revolutions in 30 seconds, then how
much area will it cover in 5 minutes?

(A) 1760 m* (B) 1440 m’

(C) 1860 m? (D) 1540 m*

(E)  Question nol allempled

e TTTE Ter, 1 38T 2.8 Hiet SR alTs 4 et ) A1 T 30 TR0 H 5 THRA O Far 7, at 5 e § 7% foram
&It T T

(A) 1760 He2? (B) 1440 e

(C) 1860 Hia? (D) 1540 Hie

(E) gt o

Digilocker is a flagship initiative of which Ministry?

(A)  Ministry of Education (13) Ministry of Finance

(C)  Ministry of Electronics and IT (D)  Ministry of Commerce and Industry

(E)  Question not attempted
e freiiert form T T e vee 27

(A)  Toraq e (B) fam ety
(OB-SEARECR GRS FFAR-EIGD) (D)  =T=T O I e
(E) HTana s

Where is Rajasthan Atomic Power Station located?

Choose the most appropriate option from below:

{A) Suralgarh {B) Baran

(C)  Jodhpur {Dy Rawatbhata
(E)  Question not attempted

TSI T Sell T9H el feurd 87

e o 4 793U faehey =

(A) &3 (B) Rf

(€) SuE (D} Tl
(E) #Tana s

RIS] @ 2 [ P.T.O.



Which is not the key vision area of Digital India Programme?
Choose the most appropriate option from below:

{A) Dhgiial infrasiruciure as a core ulilily 1o every cilizen
(B} Governance and service on demand

(C) Digital empowerment ol cilizens

(DY Promotion of behavioural changes of citizens

(E)  Question nol allempled

w1 A “fefSrest st swismr 1w g am T 22

e % @ T 3uge oo 4
(A)  WeHeh AT o oI e SoenTfira o 7 # feforeat gfrandt g
(B) TE--\ Ug "iaw A fegie (@i o smee S g

(C) iRt 1 fefSreer weTheRtoT

(D) TR o SRR YT 6t SaTar 7

(E) HTana s

What is the minimum quorum required for a Gram Sabha meeting under the Panchayati Raj system?
(A)  One fourth (B)  One sixth

(C)  One eighth (D}  Omnetenth

(EY  Question not attempted
STl TIST e o A HTH T i 33 o [T STTaweres =[a | i 747 87

(A)  Teh=huTg (B) @aai um
(C) I3l 1T (D) Il 9N
(E) i ot

On which dale second stage Rajasihan Union {Present Rajasthan) was formed?
Choosc the most appropriate option from below:

(A) 17" March 1948 (B) 25" March 1948
(C)  18™ April 1948 (D) 30" March 1949
(E)  Question not attempted

TR B (AT TSreerTe) o7 g6 =or fer foifer =t i gamm?

e & @ wad 3uges fawen 7

(A) 17T 1948 (B) 259 1948

(C) 18 37T 1948 (Dy 30 9T 1949

(F) ormia g

According to 2011 census, which of the following districts of Rajasthan has the lowest population density?
(A) Bikaner (B) Jaisalmer

(C) Barmer (D) DPali

(E)  Question not attempted
2011 =1 STTVAT o SR TR 5 8 TsTedT o fohd [Siel 3 U Sed Gedl =1 27

(A) SR (B) SIUERR
(C) el (D) et
(E) gt o

RIS] @ 3 [ P.T.O.



10 Which of the following statement is not correct about alluvial soil in Rajasthan?
(A)  This soil is found in northern and eastern districts of Rajasthan.
(B) Ttis light brown red in colour and has a sandy and leamy texture.
(C)  ltisa fertile soil.
(D) This soil contains cnough quantity of nitrogen.
(E)  Question nol allempled
TTETH | STellg Hal o oI H efTRad § | &19-91 %o Fal 72 82
(A) %ww%ﬁﬁﬁﬁﬁ?ﬁﬁﬁaﬁ%l (B) FHT {T Eehl YT 1T & ST gHeRT TS sfefg 3He 2|
(©) %wmw%l (D) wwﬁ?@mﬁmwﬁa“r%
(E) HTana s
11 If ‘PARK’ is coded as *5394°, *SIIRT’ is coded as ‘17698 and "‘PANDIT’ is coded 532068 then how
would ‘NISHAR’ be coded in thal code language?
Ife “PARK’ bl *5394°, *SHIRT’ =l *17698" R ‘PANDIT’ &l *532068 =it fohaT <ITaT 2 1 “NISHAR &l
41 g 1T 4 ST shife fora su?
(A) 261739 (B) 261789
(C) 231954 (DY 266734
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g
12 Find the missing number (7} in the Table:

FereT H T WA (7) [ -

2 |1 6

4 | 7] 2

g | 5[ 1

30 [ 34 | @
(A) 15 B) 16
©) 17 (D) 20

(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

13 Which of the given options will complete the given series?
et o T foehedl § © 1 3T 7T 360 2 QU T
gfe ig il fei  gf il
(A) eiflgi {B) Tligie
(C) ifige (Dy ifgie
(E)  Question not attempted / Bilfljﬂfﬁ RE]

14 Match List-1 with List-[1

List-I (Indian player) List-TI (Associated sport)
a. Mirabai Chanu 1. Gymnaslics
b. Dipa Karmakar i, Weightlifting
C. Hima Das . Archery
d. Deepika Kumari iv.  Athletics
GEN-1 26T ot G=i-1T 3 |r shiferg
mﬁ 1 (AT Rgeeh TEft-11 (FEfE we-Ee)
o TR L o
b, AT . R
c. Temram fii, dfEmt
d. difterr gHrd iv. UHclfeTm
Choosc the most appropriate option from below:
= o 4 AT 3T fehed ol = <hifsg
(A)  a-iv, b-ill, ¢-1, d-i1 {B) a-iii, b-lv, ¢-11, d-i
(C) a-i, b-ii, ¢-ii, d-iv (DY  a-ii, b, c-iv, d-iii

(E)  Question not altempled ¢ ailflﬁﬁ_d RE]
R15] @ 4 [ P.T.O.



15 Tndia delivered the first consignment of ‘Brahmos Supersonic Cruise Missiles” to which country?
(A) Nepal (B) Bangladesh
(C) Thilippines (D) Bhutan
(E)  Question not attempted

R | “SEIH Gueatien st frgeti” shi qeedl @ for <31 i didi?

(A) T (B) SISt
() Topefrdi (D) WA
(F) 3T T
16  Which Indian player won Bronze medal in the R2 Women's 10m Air Rifle SI11 cvent at the Paralympics,
2024,
{A)  Mona Agarwal {B) Awni Lekhara
(C) Bhagyashree Jadhav {D} Deepthi Jeevanji

(E)  Question nol allempled
Hurfeifter, 2024 7 R2 #igar 10 Hiet wx Ug%e SH1 Tl § fra e farel A sniea gesh S 2

(A)  HINT ST (B) afy @y
(C) s sae (Dy  ifw Sfamst
(E) gt o
17 “VAIBHAYV’ Fellowship Programme is implemented by which Department of Government of Tndia?
(A)  Department of Science & Technology (B)  Department of Social Justice
(C)  Department of Economic Affairs (D) Department of Revenue,

(EY  Question not attempted
T HeTTITT FTERT AR SRR o (ohE foreT g shreifvara fomam e

(A) Tomm & Wt faam (1B) TSR =T e
(C)  3Tefe ArH=A =t o (DY U= faam
(E) #Tana s
18  ‘PPP’ in terms of Gross Preduct stands lor
(A)  TPurchasing Power Parity (B) Public Private Partnership
(C)  TPurchasing Power Price (D) Public Partner Price

(E)  Question not attempted
Tohel 3cU1E o Tod 1 df ff o o1 o7f 2
(A) 3 7T @HT(Purchasing Power Parity)
(B) TrdwHe (=i ot wrfigi Public Private Partnership)
() E Rl Ao (Purchasing Power Price)
(D) WS 9FER qea(Public Partner Price)
(F) 3T T
19 Which of the following is not an exothermic rcaction?
(A) Formation of slaked lime on addition of watcr to lime
(B) Buming o[ natural gas
{C) Respiration
(D) Decomposilion of calcium carbonale (o caleium oxide and carbon dioxide
(E)  Question nol allempled
et § @ i | un Femadt s1ffsmn (exofhermic reaction) & &7
(A) = H o e R gE = 7 fwfr
(B)  Wiskfcieh 119 =T ge

(C) &84
(D)  ShicT=m I FT BTy HToHIEE T FE- S8 ATFIES T AYHH
(E) i ot

RIS] @ 5 [ P.T.O.



20 Which of the following is not an allotrope of carbon?
(A) Diamond (3) llydrocarbon
(C) TFullerene (D)  Graphite
(E)  Question nol allempled

7 5 9 1 e O AT (TElg) TE o

(A) @ (B) eI
(ORI (D) IRE
(F) ormia g
21 Oilsontreatment with hydrogen in the presence of nickel catalyst form fats. Thisis an example of
(A)  Addition reaction (B)  Substitution reaction
(C)  Displacement reaction (DY Oxidation rcaction
(EY  Question not attempted
Troper 3oiten I IYTeAfa o, dct =7, BTSN o 1Y SUSR L 0 99T | &1 98 T Ush 3ETEL0T 2l
(A) FrTees AfTfsRam (13)  wicedt stfsfrar
(C)  TacumaT siiyferan (D) ST taRTor sfsfshan
(C) AR 5
22 Select the bacterial species uselul as single cell protein (SCP).
(N)  Spiruling (BY Methylophilus methyloirophus
(CY  Trichoderma polvsporum (D) Monascus purpureus

(E)  Question not attempted

I STET] ST 6T A HITTC i TR iR T (SCP) o fore, 3wt 2

(A)  Resforr (B) Theumseirerzera furgergied
(C) ZrEFI=Hl drcieand (D) FARHE TG
(E) i ot

23 Select the seeds that are 100% pure and their bag is tagged using golden yellow colour :-
{A)  Nucleous seeds {B) Cerlilied seeds
(C)  Foundation seeds (DY Breeder seeds

(E)  Question not attempted

3 Sl 26T < AT ST 100% & B0 @ 3R Fo7eh 3 61 Fe et T 1 297 S S e -

(A) VS s S (s S (B) IO S
(C) ST (FIESSTH) st (D) W (3fieD) iR
(E) HTana s
24 Ik Tee A TR T B
(A) 39 (B) ¥
< 3 (D) &
(F) ormia g
25 AT - F gHio it ;
-1 (3755) -1 (agar=)
a W L ¥
b &I M. =g
c. Ll 9=
d f&E v, i
il fou T ferepedl H @ waifers U 3o <Y :
(A) a-1v,b-ILc-1,d-1I (B) a-IV.b-IL,c-1Ld-1
(C) a-T,b-TMc-TV,d-T M) a-Lb-Tc-TMd-TV
(E) gt o

RIS] @ 6 [ P.T.O.



26 T=fafaa o orfe s y=igas 2

(A) 99 (B) X
(C) fasgu (D) f&=
(F) 3T T

27 Il and z are the roots ol the equation x* + px + ¢ = 0, then whal is m* + r* equal to?
g i 3 p; 12 +tpx+g=10 aﬁ'mwéwg%ﬁ m? + 2 Torrh SE 27
(A)  p*+2gq B) ptq
© p-2¢ D) p—g
(EY  Question not attempted / 31?@'\’&[‘5[‘3
28  Ajay invesied a total amount of T 10,000 in two types of investments. The [irst part of invesiment yields a
simple interest 6% per annum and the second part ot investment on 10% per annum. It the total interest at the

end of one year is 7% per annum at siniple interest, then the amount invested in each investment is:

S o QI Yo ok Hawll et 3 10,000 =1 et form Afe o8 THeisT &6l Tgelr 9T 6% Siderd ohi &1 3 Sreaner sarst
TS et BT gEa Wi lo%uﬁaﬁﬁa@rwmwém% 3T U T 3 ST H 3T e ST 7% TR
ST O T BT R, A e e i Frder o i
(A) T 7500,F 2500 (By T 7000; ¥ 3000
(C) T7300,T 2700 (D) T6250;% 3750
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g
29 Which two signs should be interchanged in the following equation to make it correct?
20+5+20x8 20=38
(A)  tand x (B) and +
(C) -+andx (DY —and +
(E)  Question not attempted
Fretafias geerT 1 wet 5 & (0 3an i o 31 e8] 1 ATOH § S5eT Tree?
20+H520%8-20=38

(A)  +3fTx (B) —&fiT+
(C) =3Rx (Dy — 3T+
(E) gt o

30  When was the “‘Agnipath Yojna® introduced by the Government of India?
(A) 15 July 2021 {B) 14 August 2021
(C) 14 June 2022 {D} 14 Augusl 2022

(E)  Question nol allempled

R TR FI ST AT el I[E ol 1T 17

(A) 15 eTE 2021 (B) 14 3TT&T 2021
(C) 1432022 (D) 14 37T 2022
(F) 3T T

31  In Rajasthan, what is the amouni payable every month 10 unemployed educated girls under ‘Mukhyamaniri
Yuva Sambal Yojna® ?
TSR 59 H “HIegui={T A Sl AISH1 o q8d SRISTR R sfereriati i wiimre forai T 39 22

Choose the most appropriate option from below:

e 5 o wad Iug e I
(A) T 3,000 (B) % 3,500
(C) T 4,000 (D) 4,500

(Ey  Question not attempted ¢ 3@1’&[ EE)
RI15] @ 7 [ P.T.O.



32 Which of the following projects of Rajasthan provides hydroelectric power?
(A) Mahi Bajaj Sagar Dam (3) Jawai Dam
(C) Swaroop Sagar Dam {D} Uchha Dam
(EY  Question not attempted
e St Fferfiaa o @ # H wieies safam wite w22

(A)  TTER SIIST AR 1 (B) AR Y
(C) @ERQEUNR Y (D) 3ETEY
(F) 3T T

33 S wfdfed TeTeT 8 3% S & fu uss wise 2-
(A) Tt (B) W=
(C) @i Y EREEL
(E) i ot

34  T=fafaa O Rl U & S T -
(A) e (B) uftad
(C) o (Dy STIHARS
(C) AR 5

35 1 PB (Pectabyte) is cqual to:-

(A) 1024 TB (Terabyte) (B) 1024 Bytes

(C) 1024 MI3 (Mcgabyte) (DY 1024 GB (Gigabytc)
(E)  Question not attempted

| &t (YeTanEe) e &

(A) 1024 31 &ff (GUTEe) (B) 1024 915gH

(C) 1024 ug st (WmmaTse) (DY 1024 St &t (frmTemse)
(C) AR 5

36  Aller interchanging + and — ; 8 and 7, which one of the [ollowing equalion becomes correct?
+ 3 AT § IR 7 T TR TG ok 918 (ATerriod H T i o1 T 0T Tt g
(A) 8-7+3x5=35 {B) 7x8+6-9=25
(C) 6+8x2-7=0 (D) 8x2+7-6=9
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

37 A ccrtain sum of moncy amounts to ¥ 7,464 after 4 years and T 29,856 after 8 years on compound interest.
The value of sum is:
e fAfE ey, =3Rats SUT T 4 a1 6 918 T 7,464 AT 8 AW o 914 T 29,856 B ST €, AT ST 6 AN €
(A) 3,732 {B) T 1,866
(C) T933 (Dy T37.320
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

RIS] @ 8 [ P.T.O.



38 A bag contains coins of 50 paisa, 25 paisa and 10 paisa only. The ratio of number of coins of 50 paisa,
25 paisa, and 10 paisa is 5:8:3. Tf all the coins in the bag amounts to ¥ 144 then the number of coins of
25 paisa in the bag are:
T 9T H A S0 U, 25 T ST 10 3% 3 s B 50 TR, 25 T ST 10 T % ol o 9 # ST 51813
Bl afe ot o e ol 1 AT % 144 2, 71 S 7 25 S 3 ot i v 2t
(A) 150 (B) 240
(C) 260 (DY 280
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

39  Which of the following in spreadsheet is a method of arranging the data in ascending or descending order?
(A) TFilter (B) Sorting
(C)  Auto Sum (DY Logical operator

(E)  Question not attempted

Fefafad 1 8 o U7 Siesiie ¥ STeT & AR 97 ! Y H sFaitad i il weh e 2

(A) ToeT (B) it
(C) erem (DY  QTforheT HTET
(C) AR 5
40  Which of the following is a system softwarc?
(A) Excel (3) Powecr point
(C) MSword (DY Linux
(E)  Question nol allempled
Tarferfiae o & st w1 foen digede 27
(A)  THEA (Lxcel) (B) 9ERUZE
(©) (D) ferm
(E) i ot
41  Which ol the lollowing prinier is noiseless, high speed and of high quality?
{A)  Typewriler {B) Doi-matrix Prinier
(C) Inkjet printer {D) Laser Printer

(E)  Question not attempted

Treferfiga o & =i o1 ua ey el e, == i siiv == o arn 82

(A) TEIEH (B) Ereifda fifer
(C) e fiiex (D) e fiex
(F) ormia g

42 Which function key is used to edit cell contents in spreadsheet?
Teslie d el dindngd skl HUTTRd ol o fol forr deepyr sl a1 Ui foboy Sfreft 22
(A) T3 (B) F2
(C) Fo (D) FR
(E)  Question not attempted / 31?@'\’&[‘5[‘3
43 Tt 12 boys or 18 girls can do a certain work in 14 days, then in how many days will 8 boys and 16 girls do the

same work?

Alq 12 *1geh AT |8 wTeioral TohHl @ T 14 fedl § YU & dehdl €, A1 8 w1geh Uel 16 eiglord| It sl ol fopael

Tt 5
(Ay 7 ®B) 9
(€)1 D) 13

(Ey  Question not attempted ¢ 3@1’&[ EE)
RI15] @ 9 [ P.T.O.



44  In a triangle ABC, A3 = BC and length of AC is \/E times the length of AB. If the perimeter of AABC is
(14+7 \/5 ) em, then the area of AABC is -
s B ABC B, AB - BC 3 AC # TEE, AB H TRE F /2 T ¥ AR AABC = wiEm
(14+7 Y2) & 2, AABC F7 &7F 2 -

49

(A)  39cm’ (13) -5 cm?
)  69cm’ (D} % cm”
(E)  Question not attempted / Bilfljﬂfﬁ RE]
45 II'PQ || RS, then [ind the valueofa+b+c
I PQ || RS, T a + b + ¢ T HF J1d
Pe Q
a .
b .
Re M
S
(A) 180° {By 270°
(Cy  3060° (D) 280°

(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

46  Choose the most appropriate passive consiruclion ol the sentence given:
Everyone knows the facts of the case very well,
{A)  The case is known lo everyone very well.
(B)  The facts of the case are very well known,
(C) Everyone is known to the facts of the case.
(D) Everyonc knows the facts of the casc.
(E)  Question not attempted

47  Choose the most appropriate articles to fill in the blanks, where applicable:

ltis pleasure to do business with such cfficient organization.
(A)  x,the, an (B) a,the, a
() a.x,an (DY x,X.an

(E)  Question not attempted

48  Choose the most appropriate option to fill in the blank:
student in the class passed the examination conducted in the month of April.
(A) Al (B) Every
(C) Very (D} Nonc
(EY  Question not attempted

49 SEETE § FE-ET I 20

(A)  dqqE (B) FHHME
(C) 8 @)
(C) AR 5

RIS] @ 10 [ P.T.O.
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55

56

frefetfiaa o =i =1 e I wres el 22

(A) e (B) =T

(€) = (Dy =

(E) i ot

Choose the most appropriate English translation of the given sentence.
EGEEIRRS K

{A)  Why she is weeping? {B) Why is she weeping?
(C)  She why is weeping 7 (D)  Sheis weeping why?

(E)  Question not attempted

Choosc the most appropriate reported form of the given sentence:
He said to him,”Is your name not Robin?”

(A)  Heinquired whether his name was not Rebin.

(B} He asked il the name was Robin.

(C)  He said that wasn’t his name Robin

(D) 1le asked if my name was Robin.

(E)  Question nol allempled

Choose the most appropriate oplion 1o [ll in the blank:

When my friend came to collect her books, T was a little embarrassed as T only one out of the five
books that 1 had borrowed.

(A)  read (B)  will have read

(C) hadread (D} have read

(E)  Question nol allempled

Choose the most appropriate oplion 1o [ll in the blank:

The police officer stopped us and asked us where

(A) were we going (3) arc wc going

(C) weare going (D) we were going

(EY  Question not attempted

Which ministry launched the ‘Capacity Building on Design and Entrepreneurship (CBDEY program?
(A)  Ministry of Finance (3) Ministry of Education

(C)  Ministry of Defence (D)  Ministry of Home Affairs

(EY  Question not attempted

Toper Tiatterer < fetrgr 3 Farfoar o awar fmior &t <ff <5 Sy wriswn s (@) fem

(A)  forg daer (B)  freq date™

(C) TETHAE (D) T AT

(C) AR 5

Which ol the lollowing is not a space mission launched by ISRO?

(A)  Chandrayaan (B) Mangalyaan

(C) Aditya-L1 (DY Space-shuttle programme

(E)  Question not attempted

e 5 3 0 |1 39 (TSRO) T S TR TaT Siaieet e T8t 27

(A)  SEAH (B) HH
(C) LI (D) iafiar vIee SEw (W TEe)
(E) HTana s

RIS] @ 11 [ P.T.O.



57  Thc main function of a GPS system is:

(A)  Wecather forecasting (13) Navigation and positioning
(C)  Sartcllitc imaging (DY Space exploration
(E)  Question not attempted
St . T (GPS) TOTT 6 T i 6
(A) HE" qEAe (B)  TeFaT (At SR Reufd w5 gar e
(C)  I9ue SHSAT (Dy  iafeer sty
(F) ormia g
58  The name of global satellite-based navigation system developed by the United States is
(AY  GPS (B) Galileo
(C) Bei Dou (D) GLONASS

(E)  Question not attempted

ST (US) AT Taehfird i oft afder sume - stmanfad Jre (famer) worret 1 9 #:-

(A) GPS (B) Tfifert (Galileo)
(C)  as<l {Bei Dou) (D} TANTE{Glonass)
(C) AR 5

59  Choose the most suitable word 1o complele the sentence given:
A person who seltles dispulesidisagreements 15 known as an .
{(A)  Allruist {B)  Arbiualor
(C)  Anarchist {DY Ascctic
(E)  Question not attempted

60  Choosc the most appropriate word opposite in meaning to:

CLIIVALROUS
(A) Gallant (3) Discourtcous
(C)  Detiant (D) Brave

(EY  Question not attempted

61 ‘IEMRE FEAY =T -

(A) T8+ 3R (B) FET+URE
(C) TR+ 378 (D) 3+ 3TMURE
(E) i ot

62 fo=se wrofufa=se g-
(A) far+3= (B) fa+3g
(C) o +3= (D) i +3e
(E) gt o

63 Trfafiga ¥ i agsife gumw i s = 22
(A) = (B)  SEHATIT
(OREIEETS (D) Tavft
(C) AR 5

RIS] @ 12 [ P.T.O.



64  Which is the fastest train in India?

(A)  Shatabdi Express (B)
(C) Duronto Express (D}
(E)  Question nol allempled

T T Weel I 71T 3hT &7 bt ©T &2

(A)  FreTedl TR (B)
(C) T (D)
(C) AR 5

Gatimaan Express

Vande Bharat Express

NGO
e I T

65

06

o7

The Supreme Court has ordered the Rajasthan  Government to shut 68 mines operating within a 1 km
periphery of the critical tiger habitat of which tiger reserve?

(A)  Dholpur-Karauli Tiger Reserve (B)
(C) Sariska Tiger Reserve ()
(EY  Question not attempted

Galeel AT | T G o] foh dTe STHIARU o HEwqyl sIH ST o 1 fehelH 12t o 2 H 9 & 68
WG i &< L T ST 2

Ranthambore Tiger Reserve
Ramgarh Vishdhari Tiger Reserve

(A)  HIeTqC el ereT ot (B) Wit TgR fimd
(C) TRl IR =19 (Dy TTg fomery T fierel
(E) gt o
f—,-&—%—i—%t._.. is equal to -
32—,+%+%+ ...... o AT 2 -
{(A) e (B 2e
1
€y = (D) ¢?

(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

The perimeter of an isosceles triangle is 32 cm and length of each of the equal sides is % times of the length
of base, What is the half of the area (in cm”) of the triangle?

Ush G{gaTE e 1 afmg 32 Gl € 37T Seish U STl ol TS ST 3 @S & % T &) T ok

AT ohT STTHT (HHI> T) 5T 87

(A) 38 (B) 42
(€) 4 Dy 24
(E)  Question not attempted / Bilfljﬂfﬁ RE]
68 Frfafeaa & s fafad e 2
a QEF\";!T-T
b, TR
c qafrrer
d.  wHET
c. TR
ra fow u fereret & @ wrariferes sug sov R
(A) THaeTa, b3 (B) Facia,c3iNe
(C) FaAb, d3Re (D) FaAb, ¢ 3 d
(F) 3T T

RIS] @ 13

[ P.T.O.



69

70

71

72

73

74

75

frfefiaa 4 v1g forftaa ame &-

(A) B Ud &g vRar ) (B) I8 ¥ € & g1 2
(C)  \ETT I ) (D) A HEH et &
(C) AR 5

& TIAT TETa o6l wel o &

(A) T H e g (B) &M ASH

(©) T T=A (D) TG FA

(E) #Tana s

ST ol E2 o1 ST T ToRElT qEi sufh ohi el e o foTe ST shedT &1 e el s -a fora gt
(A)  =¥Tes fopam (B) SR foRaT
(OBEEZEAET ] (DY wFH T

(E) HTana s

Which of the following view shows margins and the rulers?

(A)  Review {(B) Page Setup

(C) Tage Layout (D) Nonmal View

(E)  Question not attempted

ﬁﬂ%@ﬁﬁ@aﬁ:ﬁﬂw (@%’rﬁﬁaﬂiwﬁ (Rulers )ﬁa&ﬁ?ﬂ%‘?

(A) f{al\(Review) (B) U §Z3 (Page Setup)
(C) U S (Page Layout) (D) e (Normal) N
(E) gt o

Which among the following keys is used [or checking grammar and spelling in M.S. Word?
T UH FS H AT SR a1 ot A= o fer fferfiaa 5 @ forg dhsft sr swrier formm stran 22
(A) F9 {B) F3

(C) F3 {D}y F7

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

Which of the following is an output deviee?

(A) Mousc (3) Kevboard
(C)  Speaker (DY Joystick
(E)  Question not attempted

Trefafiaa & & % 61 3A3eye feamw &7

(A) HI=H (B) FaErE
(C) T (Dy STafe®
(F) ormia g

When did the Portuguese take over Goa?

QI = AT 9T STfeRR e fRe?

(A) 1306 (B) 1310
(Cy 1518 (Dy 1326

(E)  Question not attempted / fﬂ?la?lfﬁ RE]

RIS] @ 14 [ P.T.O.
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77

78

79

80

81

Which one among the following is not a salient feature of the Indian Constitution?
Choosc the most appropriate option from below:

(A)  Lengthiest Written Constitution (B) Dual Citizenship

(C) Integrated and Independent Judiciary (DY Universal Adult Franchisc
(E)  Question not attempted

fFreferfiae o & it et w6 o e forivar 7@ 22

frefataa & & waa 3uge® fomeT 97

(A) "o g ferfea @form (B) gl AnTiERar

(C) THFA TR W= AT (D)  WTEITHeR ook HaTfeaRR
(C) AR 5

Choose the word most similar in meaning to the underlined word in the sentence;
The acerbic remarks of the boss were unwarranted as she had pul in a lot o[ elfort in preparing the preseniation.
(A)  whimsical {(B) Ditter

(C) appreciative (D) childish

(E)  Question not attempted

Choose the word most similar in meaning Lo SPURIOUS from the options given:
(A)  soiled (B) incessant

(C) unauthentic (D} considerale

(EY  Question not attempted

In which gencration of microprocessor “VLSI chip (32bit) is used?

(A)  TFirst {(B) Second

(C) Third {D} Fourth

(EY  Question not attempted

HTEShITEET oht fore gt 11 <ot wet ww 2118 Forg (32 Tere) =t Swpir fopam T 27

(A) T (B) fadtm
© g (D) =qd
(E) HTana s

Choose the odd one oul [rom the given oplions.

feu T et 7 9 316 foehe o1 e #E-

(A)  (l1.143) (B) (7.67)
(C) (5,35 (D) (13,195)
(E)  Question not attempted / Bilfljﬂfﬁ RE]

Pinki scored more than Rakesh, Yami scored as much as Dimple and Lalita scored less than Manju, Rakesh
scored more than Yami and Manju scored less than Dimple. Who scored the least among the given persons?
(A)  Rakesh (B) Lalita

(C) Yanu (D)} Manju

(E)  Question not attempted

TUfehl o Tkl 9 ST1¥reh 3ieh STH foht) FTHT = TEre o SIS ST SAToTeT ] & & Sieh STH fohU) TehaT = AT & 3fersh
FR A A fevrat & oA 37a WTH foh) 9 @ fore wae i 3T T foe?

(A) Tkl (B)  elferar
(C) At (DY WS
(E) i ot

RIS] @ 15 [ P.T.O.



82  TPointing towards a girl in the picture, Sunita said, “She is the mother of Neelam and Neelam’s father is my
son”. How is Sunila related 1o the girl in the piclure?
(A) Daughter (13) Nicce
(C)  Sister (D)} Mother - in - Law
(E)  Question not attempted
A, H U TSl il AT SRR el S YA o o, g Herw shi w47t St & SR e o foarsht 5 g 871 getar
e TerR a5 § Tkl O welta 2

(A) =t (B)  syIti/etsit
(C) ='d (Dy ¥H
(C) SAgaia o

83  The main components of dettol are -
(A)  Chloramphenicol + Glycerol (B)  2-3% solution of iodine in alcohol
(C)  0.2% solution of Phenol {D} Chloroxylenol and Terpeneol
(E)  Question not attempted

Teeiel & 7&a 72 © -

(A)  FeEhR + Termde (B) Ueehierel d ARNEN FT 2-3% Taerm
(C) Tt 1 0.2% foraa (DY  FANIFaAHT v 2 fdfsiia
(E) HTana s
84  Select the most appropriate statements about human insulin,
a. Human insulin is made up of two short polypeptide chains.
b. Two chains are A and B chains.

Two chains arc ¢ and ¥ chains.

d. Pro-hormone contains extra stretch of C-peptide.

€. C-peptide is present between two chains in mature form of human insulin.
Choose the most appropriate answer [rom he oplions given below:
(A) a,candconly (3) a,bandconly
(C) a.banddonly {(Dy a,b,dandeoconly
(E)  Question not attempted
T $Yfoi o Ha 1 He IWITE HA = Hifo-
AT G a1 B1eT WIeiIerse aaTsit il o= 8T 2
A et A 3T B 2Raerd 2
c. 3 FWA o IR Y @A €
d. T BN (SEW) H C - TeTss 1 AT @ue/gwhsl B 8l
c. - UnrSS A SRS o Hew TR ¥ H WS 3o H 3T g 2l

G

T @

e fw o fereret # & wariferen Sug ST -

(A) el o, ¢ 3T e (B) Fdd a, b 3 e
(C) saeTa, bRd (D} FacTa, b, d3Re
(E) HTana s

RIS] @ 16 [ P.T.O.



85  2Mgt0,—>2MgO
In above chemical reaction, the Magnesium mctal is

{A) Reduced {B) Oxidised
(C) Ihssocialed (D} Displaced
(E)  Question nol allempled
2Mg+0,—>2MgO
e ferfa Tt st 8, Aeffers s iy
(A) ST I (B) ﬁlﬂﬂﬁﬂﬁ
(SERERIEG (Dy oo
(F) 3T T
86  Which of the following statement is incorrect for a chemical change?
(A) A gas may be evolved. (B)  Heat may be produced but never absorbed.
(C)  Sound may be produced. (D) A colour change may take place.

(EY  Question not attempted

ok T e T 3 fore o 1 & =9 a7 oo et i 8
(A) Uk T Jewisia & gkt 2l

(B) AT 30U B Wkl & T SAaiTea et oft T et 2
(C) o = BT e B

(D) T UREd & wFar 2|

(C) AR 5
87  Hcneybee culture is called-
(A)  Silviculture (3) Apiculture
(C)  Scriculturc {DY Lac culturc
(E)  Question not attempted
TRt TTeH %1 et ST 8-
(A) Tt (B) T
(€)Wt (D) ok (ATE) et
(E) gt o

88  The corrcct scquence of different steps of polymerase chain reaction is -
{A)  Annealing —» Denaturaiion —» Exiension (B) Denaluraiion —» Exiension —» Annealing
(C) Denaturation —> Annealing —» Exiension (D} [xlension —» Denatluralion —» Annealing
(E)  Question nol allempled

et s stfulsrar o fof=r ugi srradi s 2 -

(A)  THifelT — il — yaw (B) TSk — T — wHifed
() Tafesror — wifeim — fomr (D) foar — fafesmror — wifed
(F) 3T T
89  The Calligraphy ol the Hindi version ol the Indian Consiitulion was done by
(A)  Vasant Krishan Vaidya (B) Nand Lal Bose
(Cy A V. Thakkar (D) H.C. Mukherjee
(E)  Question not attempted
AT T ferelTe o Tl ST T Hora ERRETIRIPIE |
(A) TG FOT (B) T @A T
(C) T R (D) w=, Ht qEelt
(E) HTana s

RIS] @ 17 [ P.T.O.
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91

92

Who is the present (as on 01 September, 2024) Chief Minister of Rajasthan?

(A) Bhajan Lal Sharma (B) Vasundhara Raje

(C)  Ashok Gehlot (DY Bhairon Singh Shekhawat
(E)  Question not attempted

TSI 3 T (01 R 2024 3 To) et i 22

(A) WS ot I (B) TGS

(C) 3Fele: Tedld (D) Wi e S

(F) ormia g

The temperate forests called ‘Sholas’ are found in which of the following state of Tndia?
(A)  Punjab (B) Rajasthan

(C)  Odisha (DY Tamil Nadu

(E)  Question not attempted

ST e S 79, e § 8, vra % e Tsr A v ST 22

(A) YHerd (3)  T=EgH
(C) siifemm (D)  AfHeTg
(F) ormia g

Which of the following statement is maost appropriate about the Himalayan Rivers?
(A)  Nature of flow is seasonal and dependent on monsoon rainfall,
(3) Catchment arca is very large.

(C)  Their place of origin is plateau.

(D) They tflow through the fixed course with well-adjusted valleys.
(E)  Question not attempted

Temrerlt afedl < s o fFetafgd 3§ & i-u1 o 7ad I9gw &7

(A) TR T TRf A & ST At at  ff st @)

(B)  STCTITEY &1 Sgd 93T o

(C) 9T 359 T Y3 2

(D) = 3Tt qee & WHTETSIa it o |rer gitia ant @ aeedh )
(E) #Tana s

When the primary tributaries of a river flow parallel to each other and secondary tributaries join them at right

angles, the pattern is known as

(A)  Trellis (B) Centripetal

(C)  Radial (D) Dendritic

(E)  Question not attempted

SISl q& a1 shi YTedfieh G AI<l, Ueh g8t o oI sedl &l A1 fedia qeres Jieai 318 Hoenior ot fHerd
%.;f, T 39 gfaeT =i %TGI'IT'IT%:-

(A) ST (B) AR
(C) (D) FHE
(F) ormia g

RIS] @ 18 [ P.T.O.



94  Whose disciple was Dhanna?

(A) Kabir (B) DPipa
(C)y Ramanand (D) Dadu Dayal
(EY  Question not attempted
T ToRreRT fareer am?
(A)  FER (B) T
(©) T D) T
(E) #Tana s
95  Tn Rajasthan, inserting a gold nail in the middle of the teeth by a woman is called:-
(A) Damna {(B) Borla
(C)  Choonp (D) Baari

(E)  Question not attempted

TTET |, TR} AieetT gT0 2rat o i |1 oA et ST ShaeTdl -

(A) T (B) ST
€y = (D) @l
(C) AR 5

96  Tropical thorny forcst is found in which of the following regions of Rajasthan?
Choosc the most appropriate option from below:
(A) Udaipur (3) Jaisalmer
(C) Baran (D) Koia
(E)  Question nol allempled
SEUTERTCE T SHICET o, TSTe & fferfiaa A o forar & 1 qro =i &2

e o 4 s g faehey =
(A) IR (B)  SHwe
(C) =i (D) Wi
(F) 3T T
97  “Kolayal lake™ is silualed in which ol the [ollowing place ol Rajasthan?
(A) Bikaner (B) Udaipur
(Cy Ajmer (D) Churu

(E)  Question not attempted

SR Sier TsredTT & Freferfiad § o fore v § fiem 22

(A) iR (B) AW
(C) 3T (D) =&
(E) HTana s

98  Babool, Khair and Khejri species of trees are found in which of the following forest lands?
Choose the mest appropriate option from below:
(A)  Mentane forest (B) Tropical Thorny forest
(C)  Tropical Evergreen forest (D) Littoral and Swamp forest
(E)  Question not attempted

e, TR N T T g Freeiae § 4 v A O

e & @ T 3uge oo 4

(A)  wddad (B) IWIE{aH shidaR o
(C)  IVERICHHT TEEEN o (D) T T EoTeAl o
(C) AR 5

RIS] @ 19 [ P.T.O.
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101
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103

104

The remains of Ganeshwar civilization are found at which place in Rajasthan?
(A) Bhilwara (B) Neem ka Thana
(C) Udaipur (D} Hanumangarh

(E)  Question nol allempled

TP AT o AT TSN 1 fohdl T O 9T T3 89

(A)  ffearst (B) T o
C) =&Y (D} EIHHTE
(C) AR 5

Who was the founder of the Chauhan Dynasty of Ranthambhore?
Choosc the most appropriate option from below

(A) Govind Raj (3) llammir
(C)  Prithviraj 111 (DY Vcer Narayan
(E)  Question not attempted
TOTIEAR o TR ST o T i 99
frer o & gan Iy faweT =4
(A) TR T (B) TR
(C)  JeRmST - M (D) & TET
(F) 3T T
g=t-1 a0t g=ft-L | gafoa #ifsu
Teit-1 (SIH o TeRfiehT viem) qeft-11 (T wwredes vrew)
a.  ABRIDGE L 3T
b.  ANNEXURE 0. weger
¢.  AMENDMENT Ul EerE
d.  APPROVAL v, ®ed
Hrer feg e et 7 & warffares sage s I
(A) a-1Lb-ULc-1V,d-1 (B) a-IV,b-Lc-ll,d-1l
(C) a-T,b-TV,c-TM,d-T (D) a-T,b-Mc-TV,d-T
(F) ormia g
‘ Acknowledgement® =T f&aT STt EITT-
(A) ufvd (B) uradl
(C) Temium (D) THH
(E) gt o
Freferfiga o foeim s st srea gy 2-
(A) @A -GS (B) ®TER - ST
() fafie - sfer (Dy fafr - fuyr
(C) AR 5
S g uHD 1 el 7 9 T dd T E-
(A) =H% (B) SS9
(C) @A (D)
(F) ormia g

RIS] @ 20
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106

107
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109

Trfafiaa & & st weg 0 o1 2

(A) - IR (B) AT - I
(C) o - fome Dy - 3w
(E) HTana s
Frfafiaa 7 srrowvemes gem -
(A) H (3) TH
© F (Dy U
(E) HTana s
Match List-T with List-TT
List-T (Characters) List-TI (Contrasting Traits)

a. Flower color L. Green/ yellow

b. Pod color 1. Viclet/white

C. Seed shape 1. Round/wrinkled

d. Pod shape V. Inflated/ constricted
F=A-1 1 -1 & gaierd I ;

T (\%ﬁm) Tre-11 (Frieit T7om)

a. T~ a7 L BULIEL

b WA M Sriahe

c. oS SRR M. e /giEr

d. el 3TRR V. el es fagdige
Choose the most appropriate answer [rom he oplions given below:
= fow e fomredt # @ wrarifares soge s I
(A) a-ILb-Lec-Iv,d-1III (B) a-ILb-Lc-LLd-1V
(C) a-Lb-1c-ILd-1V (D} a-Lb-1lLc-IV.d-11

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

The Thalassemia genc is present on

(A) XX of 23" pair of chromosomcs (B) XY of 23" pair of chromosomes
(C) an autosome {DYy mitochondrial DNA

(EY  Question not attempted

et s T IFErT BT &

(A) 235 TR S8 % XX (B) 233U Se % XY

(C) T AT TG (SATTE) (D) FEEgIE T T

(F) 3T T

Select the Francis Hary Compton Crick’s Ph. D. thesis title-
(A)  X-ray diffraction: polypeptides and proteins (B)  X-ray diffraction: nucleic acids
(C)  Transformation in Streprococcus paertmonia (D) Semiconservative DNA replication model

(C)  Question nol allempied

shite &1 e fsnes o du=. €1 S o Siisen o1 =& it -

(A) X=X feshaer: dicfiuergs Ts wdl (B) XX fethar: =ffoiss wfe
(C) BN GelHiwa A (D) Grfidera e < o U iftcAshe Hige
(C) AR 5

RIS] @ 21 [ P.T.O.



110 The literature which is engraved on inscriptions, coins and seals is  called

Choose the mest appropriate option from below;

(A) Folk (3) Epigraphic
(C) TRegional (D) Traditional
(EY  Question not attempted
% Wifeed T STt foahT auT el W Ik 2 &, TTfecT FEATT 2
e O 4 wad 3w faeed <6
(A) @R (B) T
(C) &nfr (D) TR
(E) gt o
111 ‘Languriva song’ is related to which god/goddess?
(A)  Jeen Mata (B) Kaila Devi
(C) Khatu Shyam {DY Shrec Mahaveer
(E)  Question not attempted
(A) SfrorAmET (B) et
(C) WEwM™ (Dy A HEER
(F) ormia g
112 What is the theme of World TB Day-20247
(A) “Yes! We can end T3 (3) “Invest o End T.13 save lives.”
(C)y “Wanted: Leaders for a TB-free world’ (D) *The Clock is Ticking®

(EY  Question not attempted

forg 21 ot () fomm 2024 31 ot (et T T &7

(A) & 20 3 o Ten W gehd 8139 | o o g delh

(B) 2l @ew et o T e &, Sfia s, (sewe 2 T et 9 wmgew)
(C)  =fedr: & ot v T o o am (Awee: wfied wi T &t - i ace)
(D) =<1 =Icd & & (2 Feileh g1 IIhiT)

(F) ormia g

113 Keoladeo National Park is located in which place of Rajasthan?
(A)  Barmer (B) Bharatpur
(C) Dholpur (DY  Rajsamand
(E)  Question not attempted

AT TS T ToTeTH 3 fofd T w1 feerey 21

(A) W (B) AR
(C) TR (D) T
(F) ormia g

RIS] @ 22

literature.
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114 MWatch List-T with List-T1

List-T (Folk art) List-TI (Material)
a. Kavad L Paper
b. Phad . Colour
C. Paane HI.  Cloth
d. Mandana IV. Wood
g=t-1 a0t g=ft-L | gafoa #ifsu
Felt-1 (¥R el HEt-11 (|7
a  FES L R
b. W m @
c. UM Ul 9T
d  wiE Iv. W&l
Choaosc the most appropriate answer from the options given below:
Hrer feg e et 7 & warffares sage s I
(A) a-TV,b-M,c-I.d-T B) a-Tb-Tc¢-TV,d-T1
(Cy a-Tb-Me-TM,d-TV Dy a-M,b-TV.c-T.d-1

(EY  Question not attempted / 31:|Qﬂ|‘1'?'| EE

115 Which of the following text is composed by Jambhoji?
(A)  Mukam {(B)  Vishnoi Dharmaprakash
(C)y  Amavsya of Falgun (D)  Alakh Niranjan
(E)  Question not attempted

T 9 @ 09 © =T (Text) SIS g0 U 82

(A) HEH (B) faus adw=prar
(C) HTEE 3HTE I (D) wAaw A
(E) gt o
116  'Who was the [irst person 1o call that region ‘Rajpulana’, which 1s now known as Rajasthan?
{A)  George Abraham {B) George Thomas
(C)  George Alexander (DY  George Tod

(E)  Question not attempted

I & I USTIAHT e ATt T STk i o T ST TTeer™ et St &7

(A) SISt aTsTE (B) it o
(C) SIS weriet (Dy R
(E) HTana s
117  Which one of the following water bodies separates the Andaman Tslands from the Nicobar Tslands?
(A)  Gull of Mannar {B) 5°Channel
(C)  10° Channel {D) Arabian sea

(E)  Question nol allempled

Freferfiga # & sniv-a s frepm, stenm Sia gvg &1 (et S0 TE § STerT &ar 27

(A) T @TEY (B) 5° =He
(C)  10°=He (D) 3 IR
(E) #Tana s

RIS] @ 23 [ P.T.O.



118 Tost- Tndependence of India how many states of Rajputana (Present Rajasthan) were elevated towards the
Indian Union?

TR o T % 18 TTIAHT (AT o) #h et feamad e oo 5 et 2 12

Choose the mest appropriate option from below

e O 4 wad 3w faeed <
(A) 17 (B) 18
©) 19 (D) 20

(E)  Question not attempted / 3T o

119 The executive powers and [unctions of the Governor are:
a. All exccutive actions of the Government of a state arc formally taken in his name.
b. lle cannot seck any information rclating to the administration of the affairs of the statc and
proposals for legislation from the Ministers,
C. He can make rules for more convenient transactions of the business of a State Government.
d. He appoints the Chiel Minister and other Ministers.
Choaosc the most appropriate answer from the options given below:

(A) a. banddonly {(B) b,canddonly
(C) a,canddeonly (DY b,aandconly
(E)  Question not attempted

TSI ol FEHET TTfvRat ST s &-

a.  To% UTR S gt e wEaTed] S=aEn B9 8 3 19 W 6 AT 2

b. 8 UST o TN & HFal-4d 15 Wl eI U1 S & ST o 91 H A 8 SR 78] 91T
Hohd 2

¢c. I UST GLHR o FIHFTS o Al HlaaTses Herer o [eTg = o= e &)

d. I= el il o= AiE g wd E)

i few U fereredt # € @ ifere 39gT S A ;

(A) THaTa, b3 d (B) b, ¢ 3 d
(C) HaeTa, ¢ 3d (D) HaAb, a 31T ¢
(C) AR 5

120 Which one is the correct lens formula?

(Here symbols have their usual meaning)

e 8 0 o T R R
(et weltert =1 T e aref 8)
N Tyt ® ey

(E)  Question not attempted / fﬂ?la?lfﬁ RE]

121 llorizontal component of carth’s magnetic ficld at a place is 3.2 x 10 ° Tesla, and angle of dip is 60°. The
resultant intensity of earth’s magnetic field at the place is -
TorefT ToIT W el o <prereh i & ol Aifers Jash 3.2 x 1075 2%t 2 37 A0 &0 60° 21 36+ 9 o] o FriehiT
&5 st afonTHT <ffere & -
(A) 32x10°T (BY 16x10°T
(C) 64x10°T (D) 128x10°T
(E)  Question not attempted / 31?@'\’&[‘5[‘3

RIS] @ 24 [ P.T.O.




122 Which mirror will show a wide area view?
(A) Plane mirror (B) Concave mirror
(C) Convex mirror {D}  Parabolic mirror
(E)  Question not attempted

ToRE WaRR o GUVT o I ¥ TR 9 &1 WTH BIAT 87

(A) @A U (B)  adet <401
(C)  37er g (D) AT g9
(E) #Tana s
123 Which of the following statement is/are trug?
a. Meital oxides are acidic in nalure.
b. Non-metallic oxides are basic in nature

Sclect the most appropriate answer from given options:

{A) Onlya {B) Bothaandb
(C) Onlyb (DY} Neither a norb
(E)  Question not attempted

e T & &9 9178 o Je 8-

2, 9% SiemSe, TH d ST 2
b T % siETEE, Wi H Ay g &
il f3u T ferered| W & waiferes 3qge ST AU

(A) FaTa (B) IFTaATDb
(C) wadb (D) TasHTED
(F) 3T T

124 A greenish coating that develops on copper utensils on being exposed to moist air is due to the formation of

{A) Copper oxide {B) Copper carbonale

(C)y  Copper sulphate (D) Copper nitrate
(E)  Question not attempted
ifel o W1 ol 15 - AT H GerT T W S o RT3 W TR SeqT & Al 2
(A)  FIR ATRES (B) FIWFET
(C) I ETH (D) HRAEE
(E) gt o
125 Which ol the [ollowing does not [ealure in writing a Notice? Choose the correci option.
(A)  Signature (B) Time, date and place
(C)  Minutes of the meeting (DY Agenda of the mecting

(E)  Question nol allempled

126  Choosc the most appropriate word to complete the given sentence:

T way delighted the present you gave on my retirement.
(A)  from {(B) about
(C)  with (D) [lor

(E)  Question not attempted

RIS] @ 25 [ P.T.O.



127 Choose the most appropriate word from the options to complete the given sentence.

Despite her illness, she insisled going (o work as she had plenty of pending work.
{A) on {B)
(C) for (DY to

(E)  Question not attempted

128 Choose the mest appropriate English word for the given word;
BIRCCE|
(A)  transgress (B) transcription
(C) lransconlnental {D} (ranshgure

(E)  Question nol allempled

Read the passage carefully and answer the questions that follow:- (Q. 129 to 133)

Asthma is a respiratory disorder that we have known about for hundreds of years. However, there is
still no cure although drugs, such as steroids, and inhalers can alleviate the symptoms of an asthmatic attack,
and there is still no known cause. Worryingly, the number of people who suffer from asthma is increasing
rapidly. In some countries in the world the disease is becoming more like an epidemic.

Because of the huge increase in the number ol cases in (he last 30 years, there 18 a widespread feeling
that some kind of lifesiyle change is 10 blame. Since asthma is a disease which impairs breathing, many
rescarchers have thought that a reduction in air quality might have causcd the increase in it. 1lowcver, it is
now thought that although the pollution in the atmosphere might cxacerbate the condition, it is unlikely to be
the canse of it

For a considerable time, household dust mites were thought to be a possible cause of the condition, but
attempts to keep these to a minimum have not reduced the numbers of asthmatic sufferers. Far from it.

Now researchers are looking at diet to find the culprit. The period over which asthma has increased
dramatically in some couniries coincides with a period when there have been major changes in diet in
countries which have seen the highest rales ol increase. 11 was [irst thought that some kind of dietary allergy
might be a major factor.

At the moment, rescarchers looking for a dictary trigger for asthma arc considering whether a lack of
antioxidants could be responsible, Their possible protective powers have been much discussed in connection
with other diseases. Now, doctors are wondering if a diet rich in things known to contain high levels of
antioxidants, such as fruit and vegetables, would prevent asthma, especially it such a diet was followed by
pregnant women.

Meanwhile, the schoolbags of more and more children confain an inhaler as well as books and

nolebooks. Something at school could wigger an attack and they must be prepared.

129 The usc of steroids and inhalers for asthma is to:
(A) healit (B) relieveit
(C) cureit (D} intensify it
(E)  Question not attempted
RI15] @ 26 [ P.T.O.



130 For a long time it was believed that although one of the following might exacerbate the condition (asthma),
il is unlikely 1o be the cause ol il:
(A)  anunhealthy lifestyle (B) the poor air quality
(C) insufficient exercise (D)  wrong dietary habits
(E)  Question nol allempled

131 Tdentify the statement which focuses on the newest possible cause of asthmatic attack:
(A)  The pollution in the atmosphere probably exacerbates the condition.
(3)  1louschold dust mitcs were thought to trigger the attack.
(C) A diet deficient in antioxidants may be responsible for the condition.
(D) Dietary allergies might be a major factor.
(E)  Question nol allempled

132 Which of the following is not likely to trigger an asthmatic attack?
{A) Cigarelle smoke {B)  Dusl miles
(C)  Fruits and vegetables (DY Air pollution
(EY  Question not attempted

133  Maich List-I with List-11

List-1 (Words) List-1L (Antonyms)

a. alleviate I. assuage

b. impairs . aggravale

C. cxaccrbate UL leisurely

d. rapidly IV, repairs
Choose the most appropriate answer from the options given below:
(A) a-Lb-lc-10d-1V {B) a-ILLb-1V,e-Ld-1l
(Cy a-ML,b-TV,c-Id-T Dy a-TVW.b-Tc-T.d-TI1

(E)  Question not attempted

134  What is the full form of “EEPROM™?
(A) Electronically Erasable Programmable Read - Only - Memory
(B) Electrically Erasable Programimable Read - Only - Memory
(C) Erasablc Electrically Process Read - Only - Mcmory
(D) Flectrically Erasable Programmable Read - Memory
(E)  Question not attempted
“GEPROM™ &1 79 &9 &
(A) TR Se Wi {18 ST
(B)  Seiferzehelt oo MR {g e §HRT
(C)  Fioleel goidciohel! TEE U AT AT
(D) Toiforeshet! Sl TImES U8 HORT
(F) ormia g

RIS] @ 27 [ P.T.O.




135

136

137

138

Which day has been declared as the “National Space Day® in India?
{A) 20 August {B) 23 Augusl
(C) 25 August (DY 27 August
(E)  Question not attempted

Frtaiaa # & fore fam ot IR T siaiter foam wifo forem ma 22

(A) 20 3T (B) 23 3%
(C) 25 SR (D) 27 s
(C) AR 5

Blood groups in human population is an cxample of

(A)  Co-dominance (B) TIncomplete dominance
(C) TPleiotropy (D)  Aneuploidy

(E)  Question not attempted

TRA A A SRS (U 3T 8

(A) WE - yuTferar (B) 1ot werferar

(C) g (D) I

(F) ormia g

Find the incorrect match from the following:

{A) ILlephantiasis - W. malayi {B) AIDS-Retrovirus

(C)  Pncumonia-£ kistolytica (DY Ring worm-Epidermophyton
(E)  Question not attempted

Foer i 21 it g el Y % g e

(A) BTl (CfeTshieufer)- ocy. remat (B) UM (AIDS) - GIAR™
() T - £ freeiferfean (D) & (faTam) - afigHieEe
(C) AR 5

Which onc of the following is not a viral discasc?

(A)  AIDS (B) Typhoid

(C) Dengue (D)  Influenza

(E)  Question not attempted

Fovr &1 7 o oo s g 22

(A) TH(ALDS) (B) TEHERE

© =1 (D) T

(F) ormia g

RIS] @ 28
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139 Which one is not an initiative under “Skill India Campaign™?
Choosc the most appropriate option from below:
(A)  TPradhan Mantri Kaushal Kendra (B)  Pradhan Mantri Jan Arogya Yojna
(C)  Skill Saathi Counsclling Scheme (DY Industrial Training lnstitutc
(E)  Question not attempted

“SHITTeT A AR & Sfarta #9 ot Tact T2 27

e O 4 wad 399 faehey =
(A) TEITHAT HITT g (B)  THMH ST AR =T
(C) Teact aredi el whin (D) STk gfsTeor degM=
(E) HTana s

140  Which of the following is not a Rabi crop in Rajasthan?
(A)  Wheat (B) Barley
(C) Mustard {Dy Rice

(E)  Question not attempted

Wﬁﬁﬂﬁf@ﬁﬁﬁaﬁ?ﬁlﬁwqﬁﬁ‘?

(A) T (B) S
(C) & (D) =mEe
(E) gt o

141 Where is the Public Service Commission of Rajasthan located?
(A)  Ajmer (B) Jaipur
(Cy  Jodhpur (D)  Alwar
(E)  Question not attempted
TISTET I ol AR el ferd 22
(A) ¥ (B) AR
(C) g (D) Fefat
(E) HTana s

142 By which constitutional amendment, the Urban Local Self Government was given the status of a Constitutional
Tnstitution?
(A) 44" Constitutional Amendment (B) 74" Constitutional Amendment
(Cy 734 Constitutional Amendment (D) 42" Constitutional Amendment
(E)  Question not attempted

o Horaniier demie 310 wiedl T WA ] AU ST o1 g1l o7 THET?

(A) 443t Garente gt (B) 747 WU SN
(C)  73ai Hadrfes wame (D) 42af HaeTieh e
(E) HTana s

143 Panchayati Raj is a system of:
Choose the most appropriate option from below:

(A) Local Government (3) Local Administration

(C)y  Local Self Government (D) Rural Local Self Government
(E)  Question not attempted

EEIPGIRE R T T 2

frefafiaa o € gaa sagw fawey 75

(A) TUHE SR (B)  ©THI Y9ImEH

(C) T S (DY  TTHIOT TR ST

(E) gt o

RIS] @ 29 [ P.T.O.



144  The concept of ‘Directive Principles of State Policy” in Indian Constitution was borrowed from
{A)  German Constilulion {B)  Irish Constitution
(C)  Japancse Constitution {DY Amcrican Constitution

(EY  Question not attempted

aRetY gforar § uey o Hifa fEeres fagiat i sremon e TS g
(A) S Efaue (B) i dfgeam

(C) ST % Hfereme (D) AR & wioream

(F) 3T T

145 The Rising Rajasthan Global Invesiment Summil 2024 is being organised in
(A) Jodhpur (3) Ajmer
(C) Bikaner (D) Jaipur

(E)  Question not attempted

TSI T elieel $e%etie Hife 2024 & AN T ST @ @
(A) SHR (13) I

(C) iR (D) AR

(E) gt o

146 Sclect a figure from amongst the options which will continue the scries established by the four problem
figures.
Tau e forskerdi O § Uk SRl o1 =R bl ST S AT STTk(a ] g1 wuTfud 2ot &6 < w1
Problem [igures / GHEIT STR{cAI:

P

1~ N L | —~
A I\ |72

i iii iv

s

(A) Lio ® | A

(©) m ()

(Ey  Question not attempted ¢ 3@1’&[ EE)
RI15] @ 30 [ P.T.O.
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147 A man is facing North - West. He turns 90° in the clockwise direction and then 135° in the anticlockwise
direction. Which direction 1s he [acing now?
{A) Lasi {B) South
(C) North (D) Wesl
(E)  Question not attempted
e Sk § IRt i SR g foram 5o ) 9 aferd feem(aie w6 90° 3R aoreTE aEd (G
argen) o 7 1350 e 21 37 e fopw o o 7 s e v

(N T (B) =feqor
(C) W (Dy Ui
(F) 3T T

148 32 students are sitting in a row facing towards North. If Nehal is 14% from the left end then what is her

position from right end?

32 feramelf 3w 1 S R o g U i 1 S 21 9 Nee 9 SR § 149 T W R Y 3% U e sRH

T 27
(A) 17 (B) 18
< 19 Dy 20

(E)  Question not attempted / 3T o

149 Arrange the following words as per the English dicticnary and find the second word:

SIS FToEHIT F TR FTATRET Wkl T A F A FATEAR TA 753 F 797 F1:
charity, carton, caravan, cardigan

(A) Carton (B) Caravan

(C)y  Charity (D) Cardigan

(E)  Question not attempted / Bilfljﬂfﬁ RE]

150 Whatl number [rom the [ollowing options will come in place of 7 in the given series?
&1 g Aoft F Frefefi faerei 0 O i o e . o T O ST
3,15,35,63,7, 143

(A) 125 (B) 81
) 75 (DY 99
(EY  Question not attempted / 31?@'?&[ EE
R15] @ 31 [ P.T.O.



SPACE FOR ROUGH WORK /T T4 % forg o

IR UAF W 71 Wit § - qor wfa AR fadver wia, wdtern waTie o qe we oig § ud uiandi 3w
Gorek oh1 11 Tfcal digrek =i @i, gdianedf @ fgdta uid =1 overy 781 ¢ | Jigheh g1 I 996
W1 T [l 1 0w T, 5o vl & 0o Ui @ we @1 9 WE o g g E oo &
gdigmelt =) WG | ahendT f3dta gl 1 sra wg & «rE |
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